<N,/dn dg>

Ratio to ATLAS

2.5

1.5

0.5

[EEY

0.5

13000 GeV pp

Z (Drell-Yan)
| I I

_| I | I I I ]
B <N_>vs p_Zr (ATLAS UE in Z production) |
- B ATLAS 7]
IS A Herwig++ Powheg 2.7.1 default |
— --id-- Herwig 7.2.1 default 1
e ¢ Sherpa 2.2.9 default _
— . —_—
| . _
| - _
. - ’
—l. SR = Eﬂ..‘. ______________________ \ —
- - -—-A _______ R A ]
_Eﬂ?g A . 7
| A : _
- S Q .................................. . ]
s | e ¢ |
- LAY 7]
B ",_.'9 ]
¢ _
| | | | | | | | | |
:l T T | T T T | T I:
. |
— m —]
AA-.A‘_:Q‘ EF--E------- L L L L T et —— = |
A AA ....................................................... A
I ’ """""""""""""""""" e |
0 200 400

Rivet 3.1.10, = 3.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


